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Announcements About the Course

Week 2: Assignment 3

The due date for submitting this assignment has passed.

As per our records you have not submitted this assignment.

MNote: The questions in this assignment is connected with Week 2: Assessment 2.

Ask a Question

reviewero@nptel.itm.ac.in

Mentor

Progress

Due on 2021-08-18, 23:59 IST.

2.2 b) Assume vehicle acceleration is some value for first ten seconds, and half as much for next ten seconds to still reach 50 kmph in 20 seconds. Now
again compute traction force, Power and Torque at 50 kmph.

2-wheeler

3-wheeler

4-wheeler

1) The value of A s

Mo, the answer is incorrect.

Score: 0

Accepted Answers:
(Type: Range) 183,790

2) The value of D is

Mo, the answer is incorrect.

Score: 0

Accepted Answers:
(Type: Range) 2.5,2.6

d) The value of Gis

Mo, the answer is incorrect.

Score: 0

Accepted Answers:
(Type: Range) 51,55

4) The value of B is

Mo, the answer is incorrect.

Score: 0

Accepted Answers:
(Tvpe: Range) 445,451

5 Thevalueof Eis

Mo, the answer is incorrect.

Score: 0

Accepted Answers:
(Type: Range) 6.22,6.32

6) The value of H is

Mo, the answer is incorrect.

Score: 0

Accepted Answers:
(Type: Range) 85,95

7} The value of C is

Mo, the answer is incorrect.

Score: 0

Accepted Answers:
(Type: Range) 955,1005

8) The value of Fis

Mo, the answer is incorrect.

Score: 0

Accepted Answers:
(Type: Range) 13,14

9) The value of | is

Mo, the answer is incorrect.

Score: 0

Accepted Answers:
(Tvpe: Range) 285,310
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E H

0.5 points

0.5 points

0.5 points

0.5 points

0.5 points

0.5 points

0.5 points

0.5 points

0.5 points

2.2 c) To reach maximum speed vfin T seconds, if a vehicle accelerates at a rate “a" for first T/2 time and at a rate "a/2" from T/2 to T. It therefore gives (vf-
vO) = a*T/2 + {a/2)"T/2 = (3/4)"al and a = (vi-vO)" (4/3T).

(Consider the vehicle starts from rest while answering below guestions)

If the average power During acceleration is expressed as: K;* m*' * yy1 * 721

10) Value of K; is (Correct upto 2 decimal places)

Mo, the answer is incorrect.

Score: 0

Accepted Answers:
(Type: Numeric) 0.5

11) Value of x; is

Mo, the answer is incorrect.

Score: 0

Accepted Answers:
(Type: Numeric) 1

12) Value of ¥ Is

Mo, the answer is incorrect.

Score: 0

Accepted Answers:
(Type: Numeric) 2

13) Valueof z; is

Mo, the answer is incormect.

Score: 0

Accepted Answers:
(Type: Numeric) -1

If the average power At the end of time T is expressed as: Kz* m™2 * w2 * T22

14) Value of K, is (Correct upto 2 decimal places)

Mo, the answer is incorrect.

Score: 0

Accepted Answers:
(Type: Range) 0.6,0.7

15) Value of x, is

Mo, the answer is incorrect.

Score: 0

Accepted Answers:
(Type: Numeric) 1

16) Value of - Is

Mo, the answer is incorrect.

Score: 0

Accepted Answers:
(Type: Numeric) 2

17) Value of z7 Is

Mo, the answer is incorrect.

Score: 0

Accepted Answers:
(Type: Numeric) -1

If the average power At the end of time T, assuming linear acceleration, is expressed as: K;" m* * \rﬁ'ﬂ o

18) Value of K3 is (Correct upto 2 decimal places)

Mo, the answer is incorrect.

Score: 0

Accepted Answers:
(Type: Numeric) 1

19) Value of x; is

Mo, the answer is incorrect.

Score: 0

Accepted Answers:
(Type: Numeric) 1

20) Value of y; Is

Mo, the answer is incorrect.

Score: 0

Accepted Answers:
(Type: Numeric) 2

21) Value of z3 Is

If the average power At the end of time T, assuming linear acceleration, is expressed as: K3* m=* 1..r1‘-""| L s

18) Value of K; is (Correct upto 2 decimal places)

Mo, the answer is incorrect.

Score: 0

Accepted Answers:
(Type: Numeric) 1

19) Value of x5 is
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0.25 points

0.25 points

0.25 points

0.25 points

0.25 points

0.25 points

0.25 points

0.25 points

0.25 points

0.25 points



